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1.  Match the following :
fa) Krebs cycle : 1. Occurs in cytoplasm
(b)  Ubiquinone 2. Diffuse from cytoplasm to mitochondria
(¢) Glyeolysis 3. Mobile carrier
(d) Acetyl-CoA. 4, Occurs in mitochondrial matrix

a) () (©) (d)

(
d 4 3 1 2

B 3 1 4 2
© 1 4 2 3
D 4 1 3 2
Qummsss :
(a) dguspnd 1. esa CGLrbammesdler men Gumib
®)  wsEuiemer 2. evel CLmGemmssSed g el CLTemamg Awimeée
ug& b
(c) denarsGaraileflen 3. pamb Caflwurser
(d) el genemr aranenevid e 4. enwl GLrsmangNwreder Gl Mgen L@duiled
| | BenL_GLmib
() (b) (c) (d)
A 4 3 1 .2
®B 3 1 4 2
© 1 4 2 3
® 4 1 3 2
® | 3 - GS0811
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The purines present in nucleic acids are :
I Adenine and Cytosine
1I1. Guanine and Thymine
III.  Adenine and Guanine

IV.  Cytosine and Uracil

A IV G m (© I (D)
Bl sells sewmsaieon sramiu@mn Ly farsar

1. <3lig enerer LHMID ens GLrer

II. @eurafer HmiD ansLSlen

.  =qmere bHmb @eureaien

IV.  aneGLrflenm bHmb wprdled

A IV (B)y III (C) II Dy

Find out the correct match/es :

1. Enzymes - Bioclogical catalysts

II. DNA =3 Nucleic acid

ITII. Insulin - Hormone

IV. Vitamin E = Water soluble vitamin

&) Il only (B) Ionly

(© L IIandIV ) L 1landII

sflwmer GUmmESSHenans/ e sugamer saTLMls.

L Apmdser - o Wiiw diflwr earsflaer

II. g.erene - Bl safls @ulteld

II.  @eénaadlen - annGLomer

IV. eealcSarhE - ;_‘F;:ﬁd) SeTLD eneul LSl

(A) IIwl@wo : '(B) I b (b

© LIIopgyd IV D) I, IT whmw IIT
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Choose the correct answer :
The itai-itai disease of Japan was caused due to
L. Arsenioe pollution
- IL Cyanide pollution
III. Cadmium pollution
Iv. Lead pollution

(A) IandII (B) IIandIII d III only (D) IVonly
griwman eflanL. H(ma

suinmafler @CLmil - @il mi Grmi 2 (peuréssdn @ smrerTld

L g reaflé wreur®

II. EnFLIENGI IDT&LIT(H

III. sl Bunb wresur®

IV. Qe (fruub) LTI

@A) Iwpgod I B) Muwpgnp Il  (€) I o @ @) IV ol G

Match the following :
{(a) Sericulture

(b) Horticulture

() Aquaculture
(d) Apiculture

Farming of aquatic organisms
Culture of honey bees

Rearing of silk worms

"

Cultivation and maintaining gardens

(b) (c) (d)

(a)
A 3

4 1 2
(B) 2 3 4 1
© 1 2 3 4
D) 4 3 2 1
Qummsgis :
(a) Qefswsar 1 Breump 2 ultlen euammiiyy
(b) apmiTg&SeET 2. Gaaf uariiiy
(©) seunsdEaT 3. Ul By eueriiiy
(d) ensco&ar 4. Carl L &seme

@ (O (© (d)

A) 3 4 1 2
By 2 '3 4 1
© 1 2 3 4
o 4 3 2 1
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20.

21.

Which of the following were among the main exports of Indus valley people. Select the
correct answer from the codes given below :

(B)

IT and III

J Iand II

(D) TIII and IV

Apg #wQeaeall wasallar wafu gpmiwdl Qurmearamer SpssaTL GHuidiaer epald sflwrer

I. . Wheat

1L Barley

III.  Cotton

IV.  Gold

(A I, Il andIII
eflenL_enwd Cai bl s Hdhds.
I Carglano

11 Limiredl

III.  umss

V. gmasb

A I wpyod II B)

- Match List [ with List I correctly and select answer :

(a)
®
(©)
(d

GY

)

uligwie I vl igwed IT 2 1 et Qur@psd sflwmer dllen_enu CHTHESMH -

(a)
(b)
()
(d)

A)
(B)
©
)

GS0811

List I
‘Santhal’s Rebellion
Maplah Rebellion
Vizag Revolution
Bardoli Satyagraha
(@) (b) (c)
1 g 2

4 | Y 2
4 3 1

2 3 1

uligured I

FMHHOSET HEDEHLD
LOTUIENT Se&ELD

ENELFTS &a&LD

uTCarall sSHwrdlrsn
(a) (b) (c)

1 3 2

4 1 2

4 3 1

2 3 1

e, Y

(d)

b O

L

(d)

b o

IT whmd 111

List II

1923
1929
1921
1855

uigwieo IT

19823
1929
1921

1855

10

I ohmn 11

O TIII wpmbd IV
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22.

Match List I with List II correctly and select answer :

(b)
()
(d

)

®)
o

D)

uaguied I-e ull.lq_ﬁ_lab 11 2 e QurBsS fluren eflenL e CaTHESH :

(a)
(b)

(d)

(&)
®
©
(0

List I
Dupleix
Anwar-ud-din

Shuja-ud-D aula

Polock
(a) (b) (©)
3 2 4
1 2 3
3 4 1
1 3 4

L igwied I
GuGer
&G’&f@m m(hSleor
gDy 2 § Agaman
Cureord

(a) (b) (©
3 2 4
1 2 3
3 4 1
1 3 4

2

(d)

List II

Nawab of Bengal
British Admiral
French Governor

Nawab of Carnatic

uLﬁ.u.lé} II
GUIBIGTET [Heu Tl
eIl seTLid

QQ@rEra seu et

‘ST & Beur
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23.

24.

Match List I with List IT of the following with suitable options :

List I List IT
(a) Kural 1. Rishabham
(b) Thutham 2. Shadjam
(¢ Kaikilai 3. Madhyamam
(d) Vuzhai 4. Gandharam
() (b) (c) (d)
2 1 4 .3
® 1 2 3 4
© 1 3 2 4
D) 4 2 3 1
vl igwed I eflmpg ulgwe IT g Qurmgs sfwurer eflen_enwg CarsEs(H.
L iguied I U iguted 11
“(a)  @per 1. flegLLb
(b) s 2. FTEHLD
{(c) ensdlener 3.  wgHumold
d) = 4, EMHSTLD
(a) (b) (c) (d)
Ay 2 1 4. 3
®B) 1 - 2 3 4
© 1 3 2 4
D) 4 2 3 1

Match List T with List IT of the following with suitable options :
List I List TI '

(a) Brahmanas 1 Forest Texts

(b) Sama veda 2.  Guide Book for Priests

(¢) Aranyakas 3. Ritual Texts

(d) Yajur Veda 4 Book of Chants

(a) ®) (c) G

A), 4 3 1 2

-« 3 4 1 2

(C) 3 1 4 2

D 1 2 3 4

uligwe I emmg Ll igwe I g Qummssis
U igued T g ued T1

(a) Hdymoemriser 1. GUETT [HTGLSET

(b) &mw Geugld 2. yGrrélsir euyflam w Hred

(c)  pyeRTIIRIST 3. &L B0 ST

(d) weyer Geugld 4. wibdly EHredEaT
(a) (b) (c) (d

(A) 4 3 1 2

B 3 4 1 2

C 3 1 4 2

D 1 2 3 4
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25.

26

217.

Which of the following is/are not correct?

Minto-Morley reforms of 1909 introduced the following.

L
IL.
I1I.
Iv.
(A)
(&)

The system of direct election was introduced in provinces
The act did not enfranchise women
It introduced dyarchy in provinces

Communal electorate was introduced

I only M I and III

II and III (D) III only

& GHILELLeneusefled saummeareupenm @B Hs.

1909-1b g eim® WenGLT -LomTedl &1 mSsmiser & GRS Erdmssmisamer o HpsliL(BSawg).

L
IL.

IIL.
IV.
A
©

Crry Carse (pepmenwt omblemisatles e (Db g
QuamsEnéE - (iflann Qen(phaseaideane

@r_en o, Aanw wrflevkisatld gnubhisdug

eu@Ly eumy Gaimged apenmeniul SIDpsiu@Gasug

| QT TN ; B) I wpoud IIT wd GHid
IT wHmio 1T e Gib (D) III wlpb

Who bestowed the title Sardar on Vallabhai Patel?

(A)

v

(A)

Dadabhai Naoroji (B) Jawaharlal Nehru

Mahatma Gandhi (DY Rajendra Prasad
susbeuml UGL & ‘FTgmi erenmy UL L 1D (&L lg ueuT wimr?

gramumi QperCGrmel) B) gmgr)r’rsﬁrsb Cr(m

LOETHLOM ST (D) @orCGeyrdlr Gysrs

©

During 1857 revolt which army remained loyal to the British?

(A)

f

(A)
(C)

Bombay Army (B) Bengal Army
Madras Army (D) Avadh Army
1857-1b ey qrlHufien Gurg) hdGawhég elseursnns Gmbs GTmamieud erg)?
Ubumi GgremyeuLd (B) eumismar @ rramieuLd |
Cleanene ErmameLd (D) cﬂ'?@u.lrr‘é;ﬁ B rraneuld
13
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28,

29.

(A)
(B)
(©)

¢

SEUMTEN FaDHenD &g S&TI_La|Lb.

(A)
ARSI,
(B)
©)
D)
Match the following :
(a) Simon Commission
(b) Nehru Report
() Second Round Table Conference
(d) Communal Award
@ (c)
A 1 4 3
& 3 i 4
) 3 1 2
D) 2 4 1
Elpasat_aupenn QUTBSSIS.
(a) enswen Gy
(b) Crm <ihlEms
() QramLmeugl eyl L Goens wrbr
(d)  euguy eunilg Siey
(a) (b) (c)
a1 4 3
B) 3 1 4
) 3 1 2
D 2 4 1

GS0811

Pick out the wrong statement.

Veerappa, the Zamindar of Koppal rose against the Nizam of Hyderabad in 1819

Gadkaris were military classes who garrisoned Maratha forts

Chakra Bisoi was the khonds leader

Sindhu and Kanhu were the leaders of the Kols

1819-6 Gamiuume Gymev uflangmi aSyliLm eremueuT eansTTUNS Bmripse edors Santéss

sTL&MM&eT wirsHus Carlal & aralaiser LeumTaear
F&1 9CGam eramueuT Gamam(Disaten Sa@eaeulT LyaimT

fpsam™ wHmb seran™ erarUeaTsedr Caraaaflen sanaairreumisar

O W= B2 O

(d)

{d)

L = N

e

Ll

14
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1932

1927

1931

1928
1932
1927
1931
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0.728x0.728 - 0.272x0.272

. Simplify :
33. bumphly 0.456
A)  0.456 o 1 € 0.728 ®) 0272
iy, 0-728%0.728-0.272x0.272
GEGS: 0.456
(A)  0.456 ®) 1 ©) 0.728 @) 0.272
34. Iff:é, then 5x + 2y is equal to
y b bx -2y
2 5
@ 3 s © 2 o 2
£~§— eTantley 5x +2y TGS 6TEHM(&EF FLOLD
373 P & TEHEG —
2 5
A 3 B) 5 (C) 5 (D) 0

35. A person’s present age is two-fifth of the age of his mother. After 8 years, he will be one half
of the age of his mother. How old is the mother at present? '

. A) 42 W 0 ©) 45 (D) 48
e sufer HCUTanSW euwig eul sTwrtler euwiflad opHd Qram() wLkisns 2 dengl. 8 eu(HLkiser
&0158) sieuflen auwig), sieui gmurdler euwifad urdluins o_emergl. gmurfen SHECUTMSWL GUWIF) cTeme?

A 42 (B) 40 ©) 45 (D) 48

12%x1.2x12-02x0.2x0.2

12x1.2+1.2x0.2+0.2x0.2 ,

A 1.2 @ 1 © 02 D) 1.4
1.2x1.2x1.2-0.2x0.2x 0.2
12x1.2+1.2x0.2+0.2x0.2

A 1.2 B) 1 Cy 0.2 D)y 1.4

36. Find the v-alue of

—eir HLMUE STewt

37. A bicycle marked at Rs. 1,500 is sold for Rs. 1,350. What is the percentage of discount?

@) 12 ® 15 © 1 @ 10
e Wfeuamguien eflame . 1,500 eremm @Hssiiul (Hearerg. @gamer qp. 1,350 &g elnmme,
FeT@E@HLIY FHEISHLD eTenen? |
A 12 B) 15 (C) 11 (D) 10

o 17 GS0811
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44. In a cylinder, if radius is doubled and height is halved.then what happens to the curved
surface area?

(A) Halved (B) Doubled M Does not cliange (D) Four times
Q@ 2 menarulley, T @ L RIETEEIULE, 2 Wb uTSurs GaDSsLILLL T iger Loy
GTETTEBIELT(GHLD?

(A) ufrg‘;]u.m@fo B) QouvLmstgd (C) wrorg @@sen (D)  prerg wLRSTED

45.  The length of side of a rhombus is 5 m and one of its diagonal is 8 m. Then what is the
length of other diagonal?

(A) 5Hm B) 7m dﬁm (D) 8m

R sTLsgnESer Lsagilen hard 5 15, =igen ¢p(p ppevaailiL_gdler Bard 8 S eraflled =igen LHAm(H
epenevedll L gdler Bemb wing?

A) 58 B T8 (€) 68 (D) 8.8

46. A, B and C can complete a piece of work in 24, 6 and 12 days respectively. If they work
together, in how many days they will complete the same work?

(A) 1/24 day (BY 17/24 day W 24/7 days (D) 24/11 days
A, BlLDﬂ')Q]L'D C aremuauiser g Geusmaemu (pigés weapGu 24, 6, 12 BT &6T eT(RS&I6 Glamemeum
erailed, Gz Geumeaenil DIEUTHET D eDemeL(HLD @mm{r_ﬁgﬂ Qaiig Wubs TEHoenear BIL&6T

CaamauiL(RHLD?
(A)  1/24 prer B) 7/24 pndT -(0C) 24/7 priser (D) 24/11 pm_gér
47. 12 men complete the 2400 sq.m ploughing work in 10 days. How many men are required to
complete 3600 sq.m ploughing work in 18 days?
«f 10men (B) 15 men (C) 18 men (D) 20 men

2400 #.i8. flavgeng 12 Ceusnawim_ser 10 pm’seafldd 2 (pg apiyinm. 3600 &.18. Flagmg 18 B _safld
2 (peusHE eTHHeman Geuanawn_ger Caeneu ?

(A 10 syl gar B) 15 syplsar (C) 18 syl adr (D) 20 oy sar

48. 2 men and 7 boys can do a piece of work in 14 days, 3 men and 8 boys can do the same in
11 days. In how many days, 3 times the work can be completed by 8 men and 6 boys?

d 21 days (B) 18days (C) 24 days (D) 36 days .

2 yamasen, T fgeursar Ganbgl @ Coumanienar 14 prigefld apulium 3 yeamsdr, 8 Ameursdr
Gorbgl, G Geaumaew 11 prisaflée Geaig eulur aafld, Gs Curd ppengy Lol_rﬁj@
Geusnarenws, 8  ERTEST, 6 Ayeursar Ganpg ersgenar Brisafla Qaig (pigliur?

A 21 priser (B) 18 priser (C) 24 pmisen (D) 36 prliser

© 19 GS0811
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53.

54.

Find the next number in the followirig series

4,6,9, 131

M 20% B) 2232 © 19 Dy 17%

DNetraur(mLd Cgm_fed i (RES eUTBLD CTEIEHERT &TE S

4,6,9,13%

(A) 201% By 223 (C)y 19 D 171

Consider the following statements :

Assertion (A) : Scholars distinguished a culture midway between Palaeolithic and
Neolithic called Mesolithic.

Reason (R) : The chief characteristics mesolithic were the stone implements used

were extremely small and made up of Chalcedony and silicate

instead of quartzite.

Select your answer according to the coding scheme below :

(A) Both (A) and (R) are false

(B) Both (A) and (R) are true but (R) is not the explanation for (A)

d Both (A) and (R) are true and (R) is the correct explanation for (A)

(D) (A)is true but (R) is false

EpsaiT eUTSELIEISeneT Heuefl

sapm (A): Lenpw sharosinEh yHu sharessn@b @er o’ L prafls srosams
@enLsnaErab eran Blesraar Ceum (HSg Elenmanir.

e (R) - BeLssparwsslar (pgatano LaTUTES &HSLLHLEIET L S&&EDSERESGD

udleors Beod srugpenw Qeusiranfln wenlls s@Ib WHMLD WawD FHE L6

sl L gb darawL faayb A oyetelleorar anamellaedr @@,

éﬁlc.pé;&aim; i@ samer Qarar( sflwmrer sllamLaw CaibESHES6yLD.

@A) (A) vogb R) @rer®id e

B) A wongb (R) M eyeamed (R) eremugy (A) efleim sflwmen sryenrd jcba

(€ (A womb (R) sfl. (R) eremag) (A) eflerr sflwimen smyenTid gmeir

D) (A) Ml araw (R) geum

21
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5h. Match the following :

(a) Na alfld K — (1  Obtained by electrolysis of fused salt
(by Cu and Ag — (1) Occur only in native state

(c) Au and Pt — (1) Occur both native and combined state
(d) Na and Ca — (iv) Reducing agent in metallurgy

(e) Al and Mg — (v} Occur only in combined state.

W @-  O-G) ©-G) @-0 (-G
B @-Gv ®-0 ©-G @-G) (-
© @-G) ®O-G) - @-G) ©-06
M (@-Gi) G- ©-0 - (-av)

Qummsg!s :

{a) Na wppwn K - () zméuslau blaambugssald Halsdng)
(b) Cu vpmpb Ag - (1) seflgs flevwuid wl Gib daLsdpg)

(c) Au whpn Pt - (i) seflss wHmb G&ﬁ@g flenaude dlem_&dlmg

(d) Na wpmpb Ca - (iv) 2 Carseflweie ¢{H&@ syenfl

(e} Al vpgn Mg - (v} Gsipg Haaudd bl HGw dams8Dg.

@ @-v O- @-@ d-0 -G
® @-Gvy O-O @-3G @-3G) -
©) @-GE ®-G) ©- D- E©-0

@ @-@) G- -0 (d-W (-G

56. Which of the following is/are wrong?
L. Mg,C, on hydrolysis gives acetylene

II. Be,C on hydrolysis gives methane
ITI.  Al,C, on hydrolysis gives allylene

(A) TandlIl (B) 1II and III
 TlandIl (D) 1,1l and III

 YeoupeuaeupyeT seupmanena ergl/ araa?
L. Mg,C, Sumpu@ly el pgl siflliyedemars s(mw0
IL. Be,C Sompu@giy Sienpgl G smen Qeueflud (Hid
1. AlC; Srmbu@ly SienL Bl H0606nemeans S(miD.
A Tiopgeb II ' B) 1I g 111
(C©) T wdHoub III @) L II opmo 1T
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60. Match the following and select the correct answer
(a) Taxrevenue _ 1. Provident funds
(b) Capital receipts 2. Taxes on income and expenditure

(¢) Non-plan expenditure 3. Sales tax

(d) Value added tax 4.

Interest payments

@ ® © @

A 4 3 2 1
@) 1 3 4 2

2 1 4 3
D) 2 3 4 1

emeumeueneupenmll QUmSH sflwurar eflen_enwt Gsrey Qels

(@) euffl eugpeumil 1 eUEIET eneulil] Bl
(b)  apaser euHemL 2. auheuml HmLD QFawe| Bgrar sl ser
(0 Sl floar Qeaay 3. eflhuien et cuifl
(d) iy smiigw eud 4 Il lg QFXSgIHeSHET
(a) (b) (c) (d)
A) 4 3 2 1
® 1 3 4 2
) 2 1 4 3
O 2 3 4 1
61. | The National Statistical Commission of India was headed by
(A) Monteck'Singh Ahluwaliya 'd C. Rengarajan
(C) Raghuram Rajan : (D) V.K.R.V. Rao

g pdwreller Csdlw yemefl efleur penemriid Geura senaenoudle sienwbs(Hbss)

(A)  wrer@QLé Hm igieumedlum (B) & Qrrasymegelr

(C).  p@ombd grgger D) &N.Cx.zym.6f. pre
62. The structure of Indian Financial System does not include

(A) Industrial finance (B) Agricultural finance

{C) Development finance d Deficit finance

@pdw Bl apenpuller s Lenwliy @senen &G"ITGTI_G'EQUJ@.&@GD 7
Q)  Qanféd A (B) Geuemmaar i)
€C)  wesfl Hi D) upprsEem B
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63.  The MGNREGS differs from other poverty alliviation measures in the following respects

1. It focuses on income generation to the targeted poor.
1L It 1s built around the notions of citizenship and entitlement.
1II. It facilitates disclosure by means of regular and social audit.

IN. It operates as per the directions of the State/Central Governments.

(A)  TandIl . 1 and 111
(©)- landIV (D) M and IV

MGNREGS Gp gy fa@n S hsafldlphg Spssar. ellgsdld Coumu@pEmg,.

I MGNREGS gihlulbl L genpsaflen sumeumfanen sl n Crrssaparwig).

II. £)8) Bla DESET OOHMID g LLenL 2 flennenty HFTIOTES darem(y 2 (heumssiul L g).
III.  Qam_ibg womnib sapsmu sararea Lugharar cuflipeapaamer 2 mib Aalding.

IV. - wrfle oopod widlu orsseaida oyamansapsdams deudubdng.

(Ay T wpmwb IT (B) II wmmub ITT
(Cy Twppwo IV (D) Il wpmpd IV
64. dJustice D.P. Wadhwa committee was d@ppointed by the Supreme Court to examine

(A}Y Insurance schemes
(B)  The level of black money in the country
(C)  The functioning of rural development programmes
M The Public Distribution System | .
2 &5 FElwangsre @eng Sprmieugners bhuret D.P. curdeur g(p Siennésiitil L g
A sTSL (g Sl s
(B)  mrigen &@LU eSS HHaTey
(C) &y e S Ltisaflan QawwunBser

D)  Quag efHGLTE apanm

65. The Nutrient Based Subsidy (NBS) policy for fertilizers was implemented in India in

~(A) 1968 ‘ . (B) 1977
(© 1991 W 2010
@ rSlwineiler o yr GEhEaTa 281’ | sFSSen g LU barar wreflus Careatans @mrﬁuﬁm e (h
(A) .1966 ‘ B) 1977
© 1991 D) 2010
0] 25 GS0811
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66.  Which Indian city has been declaréd as the cleanest city in the ‘Swachh Bharat’ ranking

20157
(A) Kochi (B) Thiruvananthapuram
(C) Bengaluru m Mysuru
‘GHsb Qail rdur Ulguadd aps QAL peTb s sssorear ESID ey 201560 Csiay
Qediiu’ Hareng?
(A Qargd (B) dSmeuapsyyn
(C) Qumiiasesm , (D)  enwHm
67.  Whois the chairman of the 20®* law commission of India?
«f Justice. Ajit Prakash Shah (B) Justice. Srikrishna
(C)  Justice. Katju ‘ (D) Justice. K. Balakrishnan

@rdureiler 20a18) &L @ peilen Senaeur wimi?

(A) ﬁs@ugﬁ 285 [Gramely agm B) BHudl. uf Hpegemrm
] ©€)  #Hud sl g D) BAuS. K. uredmegardn
68. Recently Union Government has decided to develop a city as spiritual capital of the country.

Which among the following is this city?
(A) Ujj.ain v Varanasi
’ ()] Nas_ik _ d Bodhgaya
SeTapindg aragsld wiHu DIGETQTG B BTy @ @ Fersdloar emls yallss s@apsTons
2 (Heurss (plgQeu(NSgiaTarg). SPEGERTL_DTIET 2G| THS BETLDTEHLD?

(A) oG B)  auramé
C) préls D)  ugsswur

69. India’s largest telecom operator is
(A) TATA M Bharati Airtel
{(C) Reliance (D) Aircel
@ngwreiler BalQuilu Qgrepag Qamiy Blmeuemb erg?
(A)  umr (B) umrd grlie
©) Aoawden ' D) Qs
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80.

81.

82.

Gs

Government of Tamilnadu awards Dr. A.P.J. Abdul Kalam award for a Tamilian for his/her

contribution to

(A)

Development of rural health services

Y{ Scientifie, art and literature development, humanities and student welfare

(©)

Tamil literature development

sllps =ips Dr. 0.6y <ilgd sombd dimans o@m sWRGBEEG Qsgmpuld uhsalldpsrs

(D) Development of Sports
uprIGSDs 7

(A)  dpmoliyp ssosry Cobur@
(B)

(©)
)

sifleflucd, same LHmb Gasdlu eueriédl, bafls GHWID WLHIHID LoTEwTeu(T HaverT

LD GesHlis cueriéd)

eflanemim’_(Hd& sienm apenGenhnid

Identify from the options the name of the Central government portal for students looking for

educational loans

A)

Vidya Vikas

d Vidya Lakshmi

ramauisaier swells s Agm_tumer wsHu sipélen saoud Spsaam_supper agaflle 2 dreng)

GTEHTLIGN & SewTL D&

(A)
(©)

Which of the following day is observed as the National Statistics Day?

(A)
(©)

el Sw ellgmeig

cllgw Lol

June, 8

July, 1

(B) Edu Care
(D) Shodhganga.

(B) e Carr

(D) Censamian

« June, 29

(D) October, 5

ﬁgé;su'm_ e fard “GCaflu yeraflwd Hanors” sigefssiuBEng?

(A)
(©)

0811

' e, 8

e, 1
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83.

84.

‘Pay Zapp’ a mobile application to make digital payments was started by which Bank?

(A)

(B)

SBI

ICICI

| (« HDFC

D)

HSBC

safiudurdl  gpeod uewd Gegiss Pay Zapp' eergib @aCGudl Gewudome bHs aurd

Fleumidlu|ateng ?

(A)  edv.d.g

B) gigdg

(€)  Qamé.g.erid
D) Qapé.erev.9.8

In the Australian Federal elections 2015 for the Prime Minister of Australia, who emerged -

as winner?

(&)

®)
v

D)

Tony Abbot
Kevin Rudd
Malcolm Turnbull

Julia Gillard

2015 e dlGredlw SEuQLGred Cairgaller pavdlGreliu s whdflwrs Qeupdl QubpeasT wrT?

(&)
(B)
(©)

(D)

CLral G’
Glaadlem ap
OAETLD GL 6L

Pl foani(

31

GS0811
[Turn over



https://applink.adda247.com/d/XhqWf9lSap

Adda

e

GET IT ON
Google Play



https://applink.adda247.com/d/XhqWf9lSap

Adda

247

88.

83.

The Administrative Reforms Commission of India was set up on 5 Jan. 1966 under the

Chairmanship of

(A) K. Hanumanthaiva
(B) H.C. Mathur

(C) G.S. Pathak

M Morarji R. Desai

1966-1b peir(® meneufl fiusar 5-1b Csdl ghu@ssiu L @bHu Biaurs STSmas <pyenanruisder
geneoeur |

@) K oguopsin

(B) H.C. wrggni

(C) G.S.unsss

(D) Qumyrrsy R. Caemi

“The Supreme Court in the Indian union has more powers than any other Supreme Court in_

any part of the world” — Who said s0? : . -
(A)  S.M. Sikri |

d Sir Alladi Krishnaswamy Ayyar 7

(C) M.C. Setalwad

(D)  Justice Kania

‘@bBL midusflar 2 ss SHlodrpid ewddr g priggier eés floapims Il oS
SIFSTTID 2 enl_Wig) G0, @ei_leur@ Fo HIWIGUT WITT?

(A)  ere.enb. A&

(B) & sideomg eﬂ@siq;aﬁ&eu Tl e

(C) e ..QFLdeus

.(D) EHud) sreflwm

33 GSo0811
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93.

Match List — I with List —II :

(a)

(b)

(c)

Y

(A)

(B)

« 2

(D)

Laws

The Banking Companies
Ordinance,

Special Bearers Bonds
Ordinance

Unlawful activities
Prevention ordinance
Terrorist affected areas

ordinance

@ ®» © @

4

3
3 2
1
4

R S -

1

1
4
3
2

U igwied I uiiiqueh II — o 1_air Guim@mégis : |

(a)

(b

(©)

@

A)
B)
©
D)

GS0811

FlLIb

Ul (G(LPLOTRIEET B GUF]
FLLLD

Aoty YGenemrapl
USSITEISET HEUST FLLLD

s A G ypburer

BLeUg SenEEaeT SH&EEGID §LL LD

Eelleurdlsemmed

umlssUul L LGSlaer eusT sLLID

(a) (b) (c) (d).

4
3
2
1

G o N
I e R

1
4
3
2

Years
1. 1966
2. 1980
3. 1984
4.- 1981
QU (T L_M&e
1. 1966
2. 1980
3. 1984
4. " 1981
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94.  The Protection of Civil Rights Act came into force on
(A)Y  19th December 1974
d 19th November‘ 1976
(C) 1g9th December 1975

(D) 19t November 1977

@lgenw 2 Mennser UTFSTUL Ut b Spa@)&@ Caream(d euglut L Brar
(A) 194eburl1974
B) 19 peubur 1976
(C) 19 gFbur 1975

(M) 19 peubusr 1977

95. Who one of the following persons is the ex-officio chairman of the Rules Committee, General

Purpose Committee and Business Advisory Committee?

M The Speaker

(B) A member elected by the house
(C)  The Deputy Speaker
(D) A member of Ruling Party
DemeumLieuBeT ereulr  guEeu, eldlapeopsdr @, Curg Grrssmisear Wgmer @Gep, Uanf]
2, Georaeneans e p 2 weuniler Lged cuflFsameaeur peur?
" (A) | FLITBNWISIT
(B) FanLLmE Gemh@s@asiiul L o pinent gmeurt
(C) mevaT FUTETLST

D) pEpms’ S o minSenT grmeurt

4
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96.

(a)
(b)
(c)
(d)

36t Amendment

132 Amendment

27th Amendment

W s

(B)
©
D)

56" Amendment
(a) () ()
4 - 2
1 3 4
2 3 1
1 2 3

Match. the following — Establishment of states and choose the correct one :

States
Goa

Manipur and Tripura

. Stkkim

Nagaland

Yereu(meuateudmieT omflekiser siaoliug @GNlss sfliurearas Caitey Galis.

{a) 36 aug) &Sz

- (b)
(c)
(d)

(A4)
(B)
(©)
D)

GSo0811

13 cugy Srdl(msH0
27 aug) EiBeid
56 cug) FTd(mssLd
(a) (b) (e}
3 4 2
1 3 4
2 3 1
1 2 3

wmifleoriiser
Camaur
wenfllui & Sflyyr

S&fb

7 BTSTQTHS
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97.

Which of the following are major features of the constitutions of Ldkpal and Lokayukta as

recommended by the Administrative Reforms commission?

1.

@)
"
©

D)

The‘y should be demonstrably independent and impartial
They should compdre with the highest judicial functionary in the country
They should be directly accountable to parliament

Their appointments should as far as possible be non—political

1and 4
1, 2and 4
1,2,3and 4

None of the above (or) 1, 2 and 3

Rrieura &ifmss weamwugsred ufibgienr Geiwiu’ L ewiysarar Gorsund WwHOIb

Carsopusgneiien (asdr aipt LOHMID WwaaeT eAyliiumeTt) apsdlu L& SpasaTeuhmIET eTg)

ETET Jn MWD P

1. senesflFaFunsea]d LTTULFonm penpullad ClewisdLibge
2. BT g 60 2_FebSlneamnsHlen ClawemhaenL s saliSl L6
3. urrw@wshm;j;g‘,]g')@ uﬁmaﬂé;a;é; Falg WEUTSHET

4. Sjeunseng) Hlwierd AW STITSeUTM B\(HéHaE Geuer (Hb
(A) 1ot b 4 -

B 12w (b4

(C) 1,2,3wl(hb4

(D) Gupsar ergeydievensd () 1, 2 w (Hib 3

39 GS0811
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98. Identify the numbered substances in steps of Glycolysis
Glucose —> (1) —> (2)—> Fructose 1, 6 bisphosphate

(A) (1) is Pyruvate (2) is citrate
(B) . (1) is Glucose-6-phosphate (2) is pyruvate

d (1) is Glucose-6-phosphate (2) is Fructose-6-phosphate
(D) (1) is phosphoglycerate (2) is Glyceric acid

AanaraCaralfen Lig Aaaaad eramsame @hlésiu L Ceudl@un(pasenes sam@Liy
GEnEGaTe —> (1)—> (2) —> SUndGLrav 1, 6 NevLirevGui_

A) (1) eumGar (2) A Gyl

B) (1) EEGsmev-6-uravGur (2) aumGeal

©) (1) BEsGsne-6-umevGur_ (2) SlipdGLmev-6-LmevGuL

D) (1) urevCurdlafaByl (2) Hefafls ondaid

99. Consider the following pairs :

L Thallophyta - - Algae and Fungi

I. Tracheophyta - All vascular plants

III. Bryophyta - Liver worts and Fungi
IV. Pteridophyta — Mosses and Mushrooms

Which of the pair given above is/are correct? ,
(A) T and IV  landI
(C) TlandlV (D) IIandIII

Gemeu(mLb @enamaEeneT &maHl0 Qamers :

I grGerrepL LT - DETEHEET LOHMILD LLERMEH&EET

II. g r&SGurepulLm - SUTEI (G FFHEET 2RI DeNEBSHF| STEUNEISET
III.  QespGumanuiim - deurGeum_e DHMID LLEHeMEHSHET

IV.  QufiGumenul - LDTGVEET LODMILD STaTTEnaHET

CupEHlElL Famansafie ey &l?
(A I wpmod IV (B) Iwpmwbll
(C) TwpmbIV (D) ITiopHmd I1I

GS0811 L 40 ®
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108. If a colour blind woman marries a normal visioned man, they will produce
(A) Normal visioned sons and daughters
d Colour blind sons and normal visioned daughters
(C) Normal sons and colour blind daughters

(D) Colour blind sons and daughters

Bo&@elf Cuemreanih@Eh, Gweduirer urienel Caradm . paflihEd Smnweand B kEsra, @euraer
QuDED @D

{A) LOSEMSEET LOHMILD D EETEET GuledLiman urrr'rsu}elu sa_sml_ma_lr'ras-eh

(B) &g  Hn&@EHLOESMND 2 eMLWeUTSET  Wwhmib | DSETEHET @ludumer  LMTeneu

L _WIGUMTHET

(C) waetsar @Queévnmem UTTmel o el W& Hmib wadadr Hnd Gl Odserenlo

8 ehL_WIGUTHET

(D) waasdT wHmID wediseT BnsEG@HLHG Sarend 2 enL LeUTSET

109. Cretinism, myxoedema and goitre are related to the disorders of the

(A) Parathyroid gland @ Thyroid gland

{C) Adrenal gland (D) Pituitary gland

AN g afla, L&é;@&rrmq_mrr WHMID (P SWSsispene RHw CaTerrniseT GQlsayL e AaT_TyemLuwig
(A)  Curmersrmi® sy (B asrmif smog .

(C) s famed syLid D) LA spod

110. Which one of the following is NOT correctly matched?

M Anopheles Stephensi - Leishmaniasis
(B) Glossina Palpalis | —  Sleeping sickness
(C) Culex Pipiens - Filariasis

(D)' Aedes Aegypti —  Dengue fever

SpsaaTLeuhmier seunrs umbmESILIL[HeTerg) 6Ta)?

(A)  oCGearrDedlev cuie@uesdl  — eSeuBoeflw mlen
(B) dAeamfaflwur urdumaiicy - 2 n&as Grird
(C) swaseay enundweren — wrenandasTa Grm
D) gdvrhiienL. - QL@ sTlEFeD
GS0811 44 N

. . ¢



https://applink.adda247.com/d/XhqWf9lSap

Adda247

111. The list of coded instruction in computer is called

w Program (B) Algorithm

(C)  Flowchart (D) Application software
samiLQurdle syenamsallan QemELli

&) By | - (B) Upflgpen

(C) Qewe euflouib (D)  wwenur’ H Gwer@uimmer

112. Choose the correct match :

List I ) List IT
(P) TFault ' 1.  Stromboli
(Q Fold 2.  San-Andreas
(R) Earthquake 3. Himalayan Range
(8) Volcano 4.  Epicentre
5.  Weathering
6. Exfoliation

(A) P-1 Q2 R-5 S-6
@), P-5 Q6 R-1 S-=2
& P2 Q3 R4 S-1
(D) P4 Q3 R-1 S-6

gilwurs Gurmbdweunann GaibbsHés :

U ig.used I wlgwe T
P) Yarey 1. cogmbGUmed
Q) oy 2. omeT L6
(R) yeldlimey 3.  @uwwiwens LsrLir
(S) erflwene 4.  odliey enlowibd
5. aunaflamed Hagey
6. GQurenn Basid

(A) P-1 Q2 R5 S6
B P-5 Q6 R-1 S5-2
) P2 Q3 R4 S8-1
M P4 Q3 R-1 S-6

113. The major temperature fluctuations in surface waters of the tropical Eastern Pacific Ocean
' is called as -

(A) Temperature inversion (B) Convection
(C)  Thermocline @/ ElNino and La Nina
Siwen T HpsE udlibs spsdr Cuhurtndd ghu@b Qeuliu ghnsg srpaysearralg Geusumm
SjenpaslILBEng) ' ‘
(A) Qe senadp wIHOL (B) Qeuliué s@ab
(C) QaiCGurdlenarsn (D)  erév FiGamT HmID e Hlesm
o 45 GS0811
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114. The portion of incident radiation reflected back to space from the planet is called
(A)  Atmospheric windows w Albedo
(©) Rayleigh scattering ' : (D) Law of scattering
@&Nwa sficisfler o ues WrduaiGear qpan dlartausise Hmud @miuliu@eug Géeumy
fenpsaliuBEmng 7 | .
(A)  auaflweam_s sararadser ' (B) =auGir
(C)  rCa gpafld famer ' (D) gaisfapa o4
115.- A major diamond mining centre in Belgium is
(A) Aalberg (B) Aberdeen (C) Aabenraa w Antwerp
Quegdluigdles 2 arer @@I Yirarer enauf&&Im LD
(A eGlurns B) Qugesr (©) Cuemm (D) =yen Gaurmssl
116. Rank the given soils of India in descend.ing' order in terms of their area / extent
(A)  Red soil, Alluvial soil, Laterite soil, Black soil
(B)  Alluvial soil, Red so1l, Laterite soil, Black soil
(C)  Red soil, Black soil, Alluvial soil, Laterite soil
d Alluvial soil, Red soil, Black soil, Laterite soil
QarRésiu’Herar @bl war sueasemen LFlLeTeilar gL w9 @mhiE euflasliu(i5ais
(A)  Gaboes, suaird e, Gel_LenyL_ e, SMlaad e
(B)  euahmcv e, Gabwoam, Geol Lenyi weir, sMad e
(C) Gaboe, &flge Wwar, cuanT_e Loddr, Gavl_Lenrl_ Loem
D)  eueTov e, QEbne, Mg wesr, Gl LenTi ettt
117. The planet which is known as the ‘God of War’
(A) Mercury (B) Venus d Mars D) Jupiter
‘CUTT L6y eramenLpdsliLI(HD Camer
(A)  yser (B) Geugrafl (C) Ggeusurl (D)  efwimper
118. The ice-crystal theory to explain precipitation was propounded by
d Tor Bergeron (B) KE.G. Boven (C) Richl (D) Davis
wenlp efpFflan efleuda Liefligs Camlum_en o (FeuTédluieur
(A) ocmrGuidren (B) @) GurGeuesr (C) Mélladd D) CLeev
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119.

120.

Consider the following about scientific dating of the pre-historic period : Choose the correct

code.

I.

II.
111
IV.

1‘ I, II and III only

©

The technique of radio-carbon dating is based on measuring the loss of carbon in

organic materials over a period of time.

Another dating method is known as dendro — chronology.

Palaeo Botany is the analysis of prehistoric plants.

Palacography is the study of ancient writing

II and III only

B) I ILIIandIV
(D) III and IV only

urMhnsE phegw srogder Sifledue olumiba srwofams sarsdBoudd HGaelmn

sapenm seual : siflwmen smpenp CaTHASH :

L

IT.
I
IV.

(A
©

@ ML stesdhe e o Wbirsm @urr([r;l'_a;m‘f.]eb TG < ETe &S, aﬂmm.@mpgb@mmgj

TeTUms SliumLunss GQaran® srosos seansd@n  gpepbu CrgGur-smiud

(LPENDIITELD.

wpGomEm e QLear Grr sredsatliyy apenn LB ADE).

Qs med sreuyeid QFme Freuy eushaseneT yute GFeug.

QagraQass (pern LIPRIETE T (LpEGIESaT UTESELD PDWNGLD.

L IT wpmpp 111 w Hib
1T wigp T @b

(B) I, 1L, 0I wpms IV
(D) I wpmis TV wi Gid

Which among the following correctly matched?
Madhya Pradesh
Nilgiris (Tamil‘Nad_u)

g
®B)
(©)
D)

Kol
Chhutia
Kotas

Jarawas

Little Andaman

Assam

Epsam_sunmieT ergl #Mwims QunmbSuyererg?

(A)
(B)
©
(D)

Gamen
@ lg Wi
Car_me

M ITEUTE)

wgHur KrGsen
padliav (5.8p5M6)

Sl 1g 6 D BSLOMET

SIGVEVITLD
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123.

124.

Identify the correct order of events of Muhammad-bin-Tughlug.

(A)  Transfer of capital, conquest of Nagarkot, Reform of Token currency, Taxation of the
Doab

B Reform of Token currency, Transfer of capital, Taxation of the Doab, conquest of
Nagarkot

‘d Taxation of the Doab, Transfer of capital, Reform of Token currency, conquest of
Nagarkot

(D)  Conquest of Nagarkot, Reform of Token currency, Taxation of the Doab, Transfer of
the capital :

\Gemeimeuaraupmled pawg e graas sre HlEpsslaamar sme cuflens196 SienLLinaTh STéTs.

(A)  soepar wWIHPL, BrafGsr LaLGw@LL, SeLwrer pramw STdmssn, Car @l s
cuilefldl Ly

(B) =ienLwmer premu SrfmEsh, smwpst wrhob, Gsr ol 8% euflafdiiy, prarCsm
uenL GuBiy

(C)  Gar oyu B eufleldlliy, sm@BsT WIHDHL, HepLWTEr Braww STHmssn, prerGam
enL QuiBiiy

(D) mrarGam uen QuLiy, e wrer prewmu S mssn, Car <l B auflelfiy, samopsT
THDD '

Consider the following relating to Babur.

1. The Autobiography of Babur is ‘Babur Namah’

11. It was originally written in Persian

] d Only 1 is true
(B) OnlylIlis true ,
(C) BothIandIl are true
(D) BothIandII are false

uTLImEE GaTiiueamLw G QsTHEsILILHETeTms ShEis.
I uruflen swsfleng ‘Limui pmnor’ @b
II.  oigeflen eppen mred uimpds QumPuid o_ererg:

&) 1 wlGGw sflurgw

B)- I w EGw sflwumgbd

(©) L I <odu Greaw@o sflumgn
D)y L II yflw @rar@b seupr@n
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131.  Identify the statement which is wrong.

(A) The modern method of writing with coma, semicolon, and full stop are the
contributions of the missionaries

(B) Robert De Nobili and Caldwell enriched Tamil language

(C)  The missionaries introduced Printing Press
The missionaries spread the Gospel only through English language

QarHsslul_(peren sursdlumseaile HeunTar eunaiiusens e WTeTD &T(H&.

(A) polfer erpss  (peopwmeanr &om, GedCsreer, appmiiyedrell  eramueney  Wleigenitlaeles
BeGlamenL <oy, '

B) ol g ApmAelluyb s Geuceid suileny CuTDHNl cuaTTEsemT

(C) depaniaer sifs Qubdisang Bibdwuiredle Laigert

(D) deganrilger pnQeldeanw pmdle Qumblude uriGart

132. Consider the following Reason and Assertion and choose the correct answer from the codes

given below :

Reason (R) :  The diet of the early Tamils was not very different from that of modern
times. Ghee played a conspicious part in the diet of all, it fetched a high
price.

Assertion (A) : Ghee was used freely both by vegetarian and non vegetarian Avur

Mulankilar and Purattinai Nannaganar spoken of the use of ghee.
KJ (R) and (A) are correct, (A) is the correct explanation of (R)
B) (R) and (A) are correct but {A) is not the correct assertion of (R)
(C) (R)is true but (A) is wrong
(D) (R is wrong but (A) is true

&G Qar@ssiul(Reten ampemd wHmD eladsgas smsHa Caran®, aflurar eflaew

eilStsdiops CoMmos6-

anremin (R) D uamenLw sUlD bssefler 2 eyl UpSsD,pelan sTadans 6l oamiLl L see.
QB G WeEL 2 aveurs emandg waEsEED LusaLBaden. QshE s
ahlenev dlanL_555.

ellargan (A) © engeuld LHMID Mensaid 2 argnld Hmarsg WaEEHD QB uweTLhsdean,

a7 ppBEPTT WHmD Lpsdlenert pemenmaatmi Opluder Lweur updl
flenpw Aelidsaner eripdluareme. |

(A smremb wpm slearsaqpd &, srrangslen clarsan afluns arhss ul (Hereang.

(B) smramaew eflerdspb s wyenre aryamgdlen slatsalb sflurs Aarpasiut sfdame

(C) anmpewid &l eSlendsib seum

D)  smyertb saum eSetsa &l
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143. Alex invested an amount of Rs. 8,000 in a fixed deposit scheme for 2 years at compound
interest rate 5% per annum. How much amount will Alex get on maturity of the fixed
deposit? .

(A) Rs. 8,600 (B) Rs. 8,620 i[) Rs. 8,820 (D} Rs. 8,840
Spam(Hid@ 5% ereny @l () euligudled, 2 yamHaEnaE ey sTanuau . 8,000-3 FlybsT eneuliy
S g sl dendapmi. b5 WwHdH whHrey sie b Quripg, SGosa dunbd GgTams
wmg? .

(A) . 8,600 (B) ¢m. 8,620 (C) em.8,820 (D) . 8,840

144. The difference between the compound interest and simple interest on a certain sum at
8% per annum for 2 years is Rs. 240. Find the sum.

(&) Rs. 35,000 (B) Rs. 35,700 & Rs. 37500 (D) Rs. 40,000

@remh B EHEG, AATHEG 8% g is55d5d, m Csraswdar @t (h eully WHMID
sefleu g s@enaE Glen G o_drer ellgHwimed ap.240 eraflch 2ibhs Ggmansudlen S erabien?

(A) . 35000 B) @ 35700 (C) @ 37,500 (D) @ 40,000

145. If the rate of simple interest is 12% per annum, then find the amount that would get
interest of Rs. 6,000 per annum.

(A) Rs. 82,000 (M Rs. 50,000 (C) Rs. 72,000 (D} Rs. 45,000
&G 12% safl eur . eiasdd ap 6,000-g erran(h el iguins Aarhs@n darensaud sras.
(A) a5 82,000 (B) . 50,000 (C) e 72,000 (D) @ 45,000

146. Three solid metal cubes, whose edges are 6 cm, 8 cm and 10 ¢m are melted and a new cube
is made. Find the length of edge of the new cube.

(ﬁ I12cm (B) 24cm (C) 20cm (D) 48cm

6 Qg.15., 8 Qg.i8., 10 Qs.15. ugapdren epean 2 Gaonagsranen Samo sares e e maEsUIULEH 60
ydw sensgimd Geowiu@dpg erafld yHu saisgirsdlen Lassden Hemb wirg?

(A) 12Q@s.85. (B) 24Qs.85. (O 20Q&.18. (D) 48Qds.5.

147. Find the number in the place of question mark :
21, 25, 34, 50, ?, 111, 160
(A) 86 B) 72 d 75 (D) 59
Caerelils @Hus L @)L 556 eu(HLD eTeiTanamTs SHTes s :
21, 25, 34, 50, ?, 111, 160 _
(A) 86 By 72 (C) 175 (D) 59
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159. An example of commonly used herbicide is

(A) p, p' —dichlorodiphenyl trichloro ethane
2, 4 ~ dichloro phenoxy acetic acid

(C) Benzene hexa chloride
(D) Naphthalene

Quirgieurays LweTURSSILEHD SenaT&b Emeded] _
A)  p, p - e_glarCrmenYenand yenr@GCermCrir mgGaen
B) 2 4 — oL ECmGrr Samdad @i igé sifa

(C)  Quenfen Qapsst @Gameny(H '

D 1B5Ts oLl G

160. Match the following :

I II I11
(1) Thiamine (a) Cheilosis (1) Pellagra
(2) Niacin (b) Polyneuritis (11) Glossitis
(3) Riboflavin (¢) Nicotinamide (ii1) Beri beri
(4) Biotin ' (d) Antipernic (iv) Hyperestheria
(5) Cyanacobalamine (¢) Coenzyme R (v) Pernicious anaemia

@& B-@-v @-O->G) @--0 @W-d=>0) ©G)=()-Giv)
DM=-®G)-@) @-(-0 E-@-1) @-@E->t ©6-W-W

© @O-@D-) @-@-0 E@-O-Gv) @D--G) OG-E-03

@M D-@-G) @-@E@-G@ @-D-v @W-(@-=-0 - -3

Qurpsss :
I IT II1
(1) swiller {a) ECandev 1) Gueasyr
(2) Hwder (b)  umellfluyMig e 1) ECamréigev
(3)  AGuUmMYerellen (c) HACGartigenenin(d (1) Quf QuM
(4) uCGumger (d) edr@uireais ganmenw (v) eapuQravSAwm
(5) swerGarumeden () @ear@prd-R (V) Quialdwudv Quss Ceras

@ DM-@-v @-®O->G) E@-@-0 @W-D-a ©6)-(E-iv)

B @O-b)-@G) @--0 E-@-) @W-Ee-t G-W-W

© M-@-@ @-@-v E-M-Gv @-@-3G) ©6)-eE)-0
D) DM-©@-v @-@E@-1) @-W-w @W-@~O 6)- b))
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161.

162,

163.

The Indian Constitution describes Legislative Relations between Union and States in
Article from

W  Articles 245 to 255

(©)

Articles 264 to 267

(B)

Articles 256 to 263
(D) Articles 268 to 276

apg dfsalldr £ Qbdw sirfwamondy vsdu wpmgn brEle L gmpuier o nealser LD
GIUINIEICEIE g

(4)
(©

o gser 245 — 255
ol flaer 264 — 267

(B)
D)

offmar 256 — 263
At 268 — 276

Which of the following is/are incorrectly matched? Select your answer using the codes given

below
I

11.
I11.
Iv.

S

©

Credit creation
Commercial Bank
Reserve Bank of India
Quantitative Control
I only

II and IV

Reserve Bank of India
Accepting deposits
Control of credit
Scheduled Banks

. (D)

(B)

Tand IT

Tand IV

Genaumetanaupdler erenen  sflwrs Qurmpsaddma? $Gp Qar@ésiul@erar  GHluiGsamer
Lwetu(Hdd o miser eflenLenw GoihEsHES

L
IL.
III.
IV.

(A)
(©

LG 2 (HEUT&ESELD
cuanfls cum e
XX = Mereu sukdl

eremTamTETey HL(HLILITL (B
APENI SHET
I w' puw

IT opmw IV

@bslwen lﬂafr'rai_[ G

~enauliLisener Fmmis Gamemgn g

&L e s (HLUUbSSISa

L g wieh qurdlaen

(B) I wpmw II
D)y Twopmob IV

The phase of rapid growth of population in India falls

(A)
(B)

D)

@sdwreder elepyeuran asar Agrans aueniéd gHULL gl Q8T8 S L SEla G

A)
(B)
©)
D)

between 1891 - 1921
between 1921 - 1951
between 1951 - 1981
between 1981 - 2001

1891 — 1921 yanBaatien
1921 — 1951 ya@nHaaied
1951 — 1981 syanBsatien
1981 — 2001 yarHaaien
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168. Arrange the following sectors in India descending order according to the commercial energy

consumption

1. Household sector
2. Agriculture

3. Industries

4. Transport

(A) 4,3 1,2
W 3,412
© 3,421
D) 4,1,3, 2

euewila  g&fl Blsmeller ougliuen e  Spasmam b @(r_r,g‘,]m genpsener @meig  euflensuie
auflensliLi(G 86 ’
1. Eevavsgienm

CeuenmeirenLo

2
3. QgmftihaTene
4

Curs@eurss)
(A) 4,3,1,2
B) 3,4, 1,2
©C 3421
D)y 4,1,3 2

'169. “Indradhanush” introduced by the Central Government in August 2015 aims at :
(A) . Establishing a separate ombudsman for private sector banks
W Reviving or revamping public sector banks
(C)  Reviving non-banking financial institutions
(D) Introducing new banks in rural India ,
sl 20156 wsSu eirend ol sl LREsIUCL ‘Dbdrsaien’ AU s Corseah
Ay seflwunt gienp cwidlsener Hireudlis seafl Hewlou gpubsSaeus)
B) Qurss s eutiflsamear CLDLLGSSCUS Si0wg Sranwlilg
(C)  euindl gy Bl Hlmeuarisener B ( FrenoliLig
(D) caps @pSHuneler yslu eubidlamen oflpasliLihSsieug
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172

173.

174.

Identify the correct statement frem the following

W Tiruchirapalli has been declared as the second cleanest city by Swachh Bharat in
2015 '

(B)  Tiruchirapalli has been declared as the second cleanest city by UNESCO in 2015

(C)  Goa has been declared as the second cleanest city by Swachh Bharat in 2015

(D) Mysuru has been declared as the first cleanest city by “United Nations Organization
in 2015

Spssam_suppiet sflurear smpblenens seir_bls

A dmsfgmiuerefl marsens @etnmeug &bsoTen mEph  eram  2015-&  veud  unps
2ifleilSgiemans) :

(B) dmsfgriudredl parseng @nem.meug &dswren  Bayn  erem 2015-d  wyQerevGam
2ifleflsgeTerg)

(C) Gameur pmangeng GlratrLmeug) sagnmer H&TD erar 2015 & aveud Ly iblelsaeneng

(D) g BEIS®S WPSUTEUG SSSOTET BETLD crat &dhu prHiEer gonu 2015-0 sidlelgg ereng

Nobel Prize for medicine in 2015 was awarded to
I Tu Youyou

II. Satoshi Omura

III.  William Campbell

IV.  Arun Bahl

(A) Tonly (B) I, IIIandIV

(C)  ILand Il only v I IIand III

Grrue ufle 2015 wmsgeussla BlolhEs! GeuTsends iblellsaslul (Hereng)
L uw

I. s CGund eapym

ITI.  eflevadwid CalbyEued

IV.  symem uraned

(A) Il @n B) L III wpmp IV
€y I opmyn III w @G : D) I, I wpaywn 11T

Which country has come forward to help clean India’s River Ganga?

(A) Iran %Ef Israel
(€)  Ireland - (D) Italy
Gpdwnellen shiens pHenw 55D Gaiw erhs B Qper ubgeareng?
A)  Qomen (B) @avGre
©) swrerbg D) @aanddl
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180. The Union Urban Development Ministry has selected 98 towns/cities from all over the
country to graduate into smart cities in five yéars. Select the town/cities not included in the

list from the following

(A) Coimbatore

(B) Dindugul
1[ " Chidambaram
(D)  Erode

wgHu paEiiyn Goibur H Simwéssn Briged 98 parbsmen G'a_sr'rmr Qg mbs perHaafe
awﬁmrp GuMT. BEIAGTsE WrhHlumoss EmeSang. Spss@TLeupmer evwmil S
L gwelled CarssliuLTSens G]g,rﬂm.G]&u’_ls;
(A)  Gsmubusgmnt
®  Henpisd

y (© &gbumd
D) "Gyl

181. The country that has become the first defaulter, among developed nations, on debt of
International Monetory Fund (IMF) on 302 June 2015

(A) China
B) Italy

M Greece

(D) Germany
2015, gOen 30- suani&Slwen_pg prsessger IMF sLamer Qoaysss seuflu apsad Bk GTQ?

(A)  avgemm

B) @&z
C)y Afev
D) G]gr'rwsuﬂ
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186. Tuyouyou of China has been awarded the Nobel Prize in medicine for developing a new drug

called
(A) Avermectin M Artemisinin
(C) Ivermectin (D) Parasitin

fan prieL & Colpg gupw, eaniaBs @bs wEbes sBllybssharns wHsgas smpssan
Gomue ufle euprsiul L g.

(A) eurQuosgen B) g rgldefen
(C) meunléigar (D) unprdlligen

187. Article 25 of the Constitution of India guarantees

M Right to Religion (B) Right to Property
(C) Right to life (D) Right to equality

@55 w sirflweenorifler 25-cug 64 2 sdlreurswoafiliig
{(A)  goweo fenw (B) Qsrggflens
(C) o8 eurggd 2 Meno (D) Fwggea 2 faw.

188. Which one of the following is not a formally prescribed device available to the members of

Parliament?
(A) Question Hour _ M Zero Hour
(C) Half-an hour discussion (I} Short duration discussion

urgr@Eswenn 2 mlGentaense GataHaaneuhner apenn FTTLS &HMmellurs Foors Haoawrs
Booug ag?

(A)  Gaerell Grpibd B) yHwCrmb

(©) siemwentl Gy efleurgid D) Endu sre allamsbd

189. The National Commission to review the working of the Constitution was set-up in the year

(A) 2001 (B) 2004
© 2003 & 2002

- Spflweven i Aemouiib elgsams <rmu CEHw penamlb enLodsIILT L et ([
(A) 2001 (B) 2004
(C) 2003 - (D) 2002

GS0811 0 ©



https://applink.adda247.com/d/XhqWf9lSap

Adda

e

GET IT ON
Google Play

190.

Match the -]ist :

(a)
(b) |
(©)
(d)

Fourth Schedule

Seventh Schedule

Eleventh Schedule

Eighth Schedule

(e)

3

(a) (b)
A 1 2
2
(Cy 2 1
D) 1 2
sflwreneng GUMESHS -

- (a)

(b)
(©)

(d)

(A)
(B)
()

D)

BTOTEUS) iU GUGHERT |

GTLRTELS <D/ L_GLnemr

(d)

LEGermyrelg) S L auenenr 3.

ST TEUS) <BiL_L G lenemt

(@)

1

(b)

2

©

3

(d)

Division of Powers
Seats alloted in the council of states
Languages

73rd Amendment

SFlsmr Ly
wrhlokisaraausd @gss6H Qe ,@erua;si'r
QumQser

73 a1 Hmssbd
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193.

Which of the following recommendations are made by the Administrative Reforms

Commission to improve relations between the political and permanent executive?

1.  Minister should try to develop a climate of fearlessness and fair play among senior

officers.

2. Minister should not intervene in day to-day administration except incase of servous

maladministration

3. The official relationship of Secretary to Minister should be one of confidence of that of

Minister to Secretary one of loyalty

4. Prime Minister should take special interest to arrest/growing of unhealthy personal

affiliations.

All major decisions should be briefly reduced to wr1t1ngs

u(124and5 ®) 1,2,3and5 (C) 2,3and4 M 1,2and5

fireurs Fr(masaEwH <wdwe wpmn Blopsr eun@pedea G Guiudter 2 paneu GLbLbu@é,g,

Epssa eThs Liflbgenyaanar Galig) dreng? -

1. ewésnse (pss sdsmilsafar Gu uwiohm, wppib GHiMLLITaT B 2 D6 UaTTEUSDSETET
Gipena UL (WpwHEléEs Geusm(hid

2. flieurs FTGa®H erpuBID ELE;U.II’EJ&SGTﬂGi) DIMLOFETEET g;ebeuuﬁh_surrcm seflly, e Blieurasdle
Fmeudl gaL_rg

3.  Qewelm Sennssis@nsdlen Guiubleomer é{Q;GLIGDBS o ma| GHObEms wLHHID lseurs
sfiguinen udlsy Gmaa Geausr(Hio

4, ammé&ﬁé@é@@l_ﬁsurrm sapsoHp o peflenar s(H o5 siauisar g HpliLs sauand Qegps
Gaugm(HLb

5. S|DETGG APSHEIW (Lplg 61| GENET F(HESHLONE eT(LPHLILIL Geuar(HLd

A 1,2 4wpgnd B) 1,2 3wpmbs (€) 2, 3oppbd D) 1,2 opmb5
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194. Which is / are correct relating to the Tribunals?
1. Part XV of the Indian constitution deals with the Tribunals.

2. Article 323 A deals with Administrative tribunals andrArticle 323 B deals with the

tribunals for oth;ar matters.
(A) lonly
d 2 only
(C) Bothland2

(D) Neither 1 nor 2

Sriumuiser QerLiure sflursreneu ergl / ereneu?
1 Ebdu sirduseanliern 15-as LGS Siuumuiisame ollesEHns

2. efdl 323 = Rreuns STiumubisaner eflets@ang whmbd &flf 323 =, wHn STUUTUBSMmET

GRLAGADS.
(A) 1wl @b
B) 2wl @b

(©) 1lwomd 2 yfu Grasr@Hid

D)  1-b 66 wHMID 2-1b Bj6ew
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197. Consider the following statements :

The Comptroller and Auditor General of India is responsible for the audit of the accounts of
1. The Union Govt. .

2 State Govts.

3. The governments of union territories

4

The Urban and rural local bodies.
Which of these statements are correct?
!6 1,2 and 3 (B) 2,3and4
(C) 1,3and4 (D) 1,2and4
Qi&ureder seeaio sanéE LHnD saflsms i siflser Spsam_ sansEsmer sanfbme Qsib
QurmnYayéreneuiaer ‘
1. SEL SITFTRISD
2. omEle) < FFThSEIEET
3. wesilwietr yGgemaafier <ipsmm sRiger
4. paETOLD, Srmwlyp whmib 2 eremm_4& jenioliLsar
ElpsaL mpmsmer amaSlad Claram() org Ffluimears e sms?
(A) 1,2wi@bh3 B) 2, 3w’ G4
@€ 1,3wipind M 1,2w b4

198. What is the peculiar nature of the Indian Federation?

(A) Equal distribution of powers between the centre and state

M Strong centre

© Strong states
(D) Strong Local bodies

Gl sn L Hulle eACenmgSHaTents cTeren?

(A)  eww wrile rasepsE @eLCu Fwrs syl LR
(B)  eugyeuran epowid

(C)  eugyeumen omElewiser

(D) sugpeuren 2 d@rerm_ & iavoliLEeT
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199.

200.

In which one of the case, “Passport” is considered as part of personal liberty?
(A) A.K. Gopalan (1950)

(B) Indian Express Newspapers (1985)

(C) Arumugham (1953)

M Meneka Gandhi (1978)

ahg  eup&dled ‘aLeysf B Gumeug seflwells sspdr o fawyrdar Asriiymiwgrss

SHSILL L g7
(A) g.Gs.CGamureer (1950) aupss

B) @pdwen erdeniGreav Aewidlgsmer (1985) eupss
©)  =pepsd (1953) apses

(D) CGuenen srpdl (1978) cupss;

Which of the schedules deals with division of powers between states and union?

(A)  Fourth
(B) Sixth
M Seventh
(D) Ninth

eseu(md i L eusnemraaildy, LIBlESERSEGD WHHL FFTRSSHD Lol Gu fsrrhaaner

9NSE SHLD LL_cuenamT 6T ?
(A)  premeug i cusnemT
B)  pmeug L suenant
(©)  eyreaug oL cusnant

D)  geaugTeug L suenamt
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